Unit 4

50. Ifi == fmd the possible values of x.
Jextax / 0= (X-1)(X+3)
o ¥ [r1x2]
51. Find the geometric mean of 15 and 9 in simplest radical form.,

69 « {5 - (TVE {31 |

52. The measures of the angles of a triangle are in the extended ratio of 5:9:10. Find the measures of

the angles of the triangle. ( 6) .
Angles: 5(1. =37
SRR 10X =180 g 1S

$) = b1.8°
2150 a01$) = b1

- 1o(1s) = 15°
X716 l

53. The area of a rectangle is 294 yards®. The length and width are in the ratio of 3 : 2. Please find the
3% 2X

length, width, and perimeter of the rectangle.

A:_l(‘:) H2x) L=30)=21 yd
294 xz X We 200)- 14 yd
264 = bX

wex %1 ] P Tovd

54. The side lengths in AXYZ are related in an extended ratio of XY:YZ:XZ : 7:10:14. Please solve for b

and c. 0 4+ 20 2z
LI P, 1 T
b+20 o b ob—57 5c-24
b 140 =10y -70 50¢-1240 = 1200 »
140 >3%-170

<1600 2| C=30
203 t)\b-m Hes150

55. The hexagons below, ABCDEF and JKLGHI, are similar. If CD =6, LG = 9, and the perimeter of
ABCDEF is 40, what is the perimeter of JKLGHI?

4 —& AL b 4o
F p Jeb - 1 X
I L
k. e 4 bx =360
= . . X< 00

‘P=b0um’r§ ‘ 11



56. A building casts a shadow 174 meters long. At the same time, a pole 5 meters high casts a shadow
15 meters long. What is the height of the building?

NN

T4m 16m

57.

x,
5 15

5= 870 9 X =58

Michelle wanted to measure the height of her school’s flagpole. She placed a mirror on the ground

48 feet from the flagpole, then walked backwards until she was able to see the top of the pole in the
mirror. Her eyes were 5 feet above the ground and she was 12 feet from the mirror. Please find the

height of the flagpole.
X, 4
5 (2
b8
bet 12X = 240
Bt om X: 20
58.

Campsites F and G are on opposite sides of a lake. A survey crew made the measurements shown on

the diagram. Assuming that the segments formed by AB and FG are parallel, please explain why
the triangles are similar and find the distance between

the two campsites?
Note: The diagram is not to scale.

<AZ¢6or <BT<F (artmt) and ¢AEBY ¢GEF (VAT)

AAER ~ AGEF by ARV

11, %

5 %aX:346¢0
X 178

\X“\a.?;m I

59. Please use the diagrams below to solve for x.

a.

X-2

\(+1

g

x+5/

X-3

2 WXz X -2x46% -10
*
* Xz 3%-10

~2X =-\0

| %5

b.

A

A

4 m

/\

3x

M

\3x+7

4x/

v

5x-8

o

-

3x _ 3xt] a 2

ol N Y BT S B S L)

X sx-8 2 ) :
A= IR -a4X
0=3x%- 3%
0> X(3%-53)

%01 i %= 523 l

1.3
A-d

X+ 4

2x + 3

-

axtd
x+Y

k]

5 Wit = XU 43X -6

0= X-6% -b
12
0= (x-b)(xt1)

‘ X:b, A=) {

I —



60. In ARST,RS =10, RT=15,and mZR=32°.1n AUVW , UV=12, UW =18, and mLU =32°. Are

these triangles similar? If so, explain why and write a similarity statement.

g WV
A RST i E)- \5)
& Iz Aww 12 ¥ Nes, Swntlar by SACH
3 = ® Vv R
R T e MRETV AUVW

S 2 .
61. Is a dilation by a scale factor of; an enlargement or a reduction? How can you tell?

Reduchion,  oek ¢

62. Is a dilation by a scale factor of 5 an enlargement or a reduction? How can you tell?

Entargement, K71

63. What are the coordinates of the polygon A(1,5) B(3,3) C(2,—6) D(—4, —2) after it is dilated by a
scale factor of 4?

A(1,$) 3 A" (420) c(2,6) 5 ¢ (8,-24)
B(3,3) 2 8’ (1,12) 0(-4,-2) » D' (40, %)

64. What are the coordinates of the polygon A(—4,8) B(2,4) C(0,2) D(—4, 6) after it is dilated by a
scale factor of%?
ACHE) 5 A () D(-46)2 0'(-2,3)
" '
b2t) > 8! (3,2)
¢(02) 2 ¢’ (o)
65. ADEF has coordinates D(0, 5), E(4, 1) and F(2, 1). Please dilate the triangle usinglcenter (-1, 2)’and a

scale factor of 2. T S T
From center (42) 0 D(0,5) ¢ (x4, y+3) x2 B O O N
(Xe2,4y+6) I ! =EjEs
From (-02) ¢ (e, 240) ID' ('\,?)] O
Fom center (L2 10 € (40): (e, g-1) x2 T
(x+10,y-2) HEESEEEEEEEEEmSEERESaEE.
| 1 | | | I
From (4,2) 2 (4 +o, 2-1) a! €'(a.0) , EENNEEmEEANE AR
From centev (41,2) o F(2,1) (x43,y4) 2 mwn __l N i}_ jT'
- ! N
| 1 | M)

(x+6,y-2) TR G T

From (-(,2) : (-\1b, 2-2) D|¥'(5,0) ’



66. Find the coordinates of the dilation image of AGHJ centered at the point (2, 4) with a scale factor

of % given coordinates G(-8, 2), H(-2, 2), and J(-4, -4).

From center (24) to 6(-¢,2) : (x-\0,y-2) %1,
(%-5,9-)

fom (2,4) ¢ (2-6,41) =? G'(—a,a))

From centev (2,4) to W (2,2) : (x4, y2) x 2 Xﬁ

(x1,4-1)
from (24) 7 (22,44) »i“' (0%) J
From center (04) W (4-4) 3 (x4, 4-y)* V2
(%3,9-4)

From (24) = (2:3,44) 9 \_J'HO) ’

67. Find the coordinates of the dilation image of ST centered at point (-3, 4) with a scale factor of 2

given coordinates S(1, 3) and T(-1, 4).

From center (-3,4) 40 S(1,3) ¢ (x+4, Y-1) x2
(Mglg“z)

From (-3,4) : (-3¢, %-3) 9 @

From center (-3%) to T (-14): (x42,y+0 ) %2
(x44, y+0)

Trom (-3 ) : (B4, 10 ) =>

‘.y

‘.y

14



